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�?<E4=<5 E<EF5<O

%<EF5<4 GF5??5=<O E>4F=OE >D>65?L «&5??4O �4=E4D44» 4 ?D>D5EE<>=4?L=>5 >><??5>E=>5 D5L5=<5 4?O GF5??5=<O 
E>4F=OE >D>65?L < <4=E4D4, >55E?5G<64NM55 MDD5>F<6=>5 GF5??5=<5 >DOL<, ?>76>?OO E>>D4F<FL 74FD4FO =4 >F>??5=<5 
7<<>= < >>=4<F<>=<D>64=<5 ?5F><. �>?>?=<F5?L=O< G=<>4?L=O< E6>=EF6>< E<EF5<O O6?O5FEO 6OE>>4O =5EGM4O E?>E>5-

=>EFL, 75><5FD<G5E>4O EF45<?L=>EFL < 4>?7>65G=>EFL, GF> >55E?5G<645FEO ?D>G=O< <5F4??<G5E><< >4D>4E>< <7 ?D>D<?O, 
E<>=F<D>64==>7> =4 E?5F<4?L=O5 >D>65?L=O5 ?>465EO.

1. �D>65?L=>5 ?>>DOF<5 

2. �5D5L5F>4 4 4>E>4 25 × 100 << (746<E<F >F 
FD55G5<>= ?>4E<EF5<O >D>65?L=>7> ?>>DOF<O)

3. �>=FD>5D5L5F>4 65=F<?<DG5<>7> 747>D4 >D>6?< 4 
5DGE>> 50 × 50 <<

4. %FD>?<?4 4 4>E>4 >5D57=4O >4<5D=>= EGL><, 
EFD>74=4O, 45 × 145 (195) <<, I3II E>DF

-?5<5=FO >>=EFDG>F<<

%>EF46 E<EF5<O

1. �5FD>74M<F=4O <5<5D4=4 ISOVER �5FD4=5F (��).

2. 'F5??<F5?L ISOVER &5??4O �DOL4 %FD>=7.

3. �<4D>- < 65FD>74M<F=4O <5<5D4=4 ISOVER �<4D4=5F (D).

4. �?5=>4O ?5=F4 ISOVER �4D4=5F.

5. �?5=>4O ?5=F4 ISOVER �4D4=5F DUO.

6. �D>D<?L Gyproc Ultra �� 60 × 27 << < ��� 28 × 27 <<.

7. �%� Gyproc �>64 �?F<<4.

8. ISOVER �>465E >D>65?L=O=.

9. �5=F4 4?O EFO>>6 Gyproc �4D>> PRO.

$<=<L=4O >F45?>4:

" ,?4>?56>4 4?O EFO>>6 Gyproc SUPERFLOT

" �DG=F>6>4 Vetonit prim multi universal

" %G?5DD<=<L=4O L?4>?56>4 Vetonit LR pasta brilliant

" �?5=-75D<5F<> Vetonit Hybrid Universal.
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��� «%5=-�>55= %FD><F5?L=4O ?D>4G>F<O $GE»
7. �>E>64, �D5>5D465=E>4O ??., 4. 8
&5?.: +7 (495) 228 81 10
�>DOG4O ?<=<O: 8 800 234 01 31 (76>=>> ?> $>EE<< 55E??4F=O=)

'F5??5=<5 4><4, >4> < ?N5>7> 4DG7>7> >F4??<645<>7> 
744=<O, 4 MF> =5 F>?L>> =5>5E>4<<4O < <4>E<<4?L=> 
D57G?LF4F<6=4O <5D4 ?> G?GGL5=<N GE?>6<= 6<7=< < 
<<>D>>?<<4F4 ?><5M5=<=, => < M>>=><<O ED54EF6 =4 57> 
E>45D64=<5, 4 F4>65 E?>E>5 G65?<G5=<O ED>>4 E?G65O 
>>=EFDG>F<=.

$4EE<4FD<64O 646=>EFL GF5??5=<O >>=EFDG>F<= 4><4, 
E?54G5F ?>=<<4FL >5N5<O F5??>?>F5DL G5D57 6E5 57> 
M?5<5=FO: ?>? < DG=44<5=F, >>=4 < 465D<, EF5=O < >DOLG. 
�4> ?D46<?>, 4465 ?D< 4>EF4F>G=>< GF5??5=<< 6E5E 
>>=EFDG>F<= < E>5?N45=<< EFD><F5?L=OE =>D< 4>< 5G45F 
<<5FL F5??>?>F5D< G5D57 6E5 57> M?5<5=FO. 

%4<>= FD55>64F5?L=>= > GF5??5=<N >>=EFDG>F<5= O6?O5FEO 
>DOL4. &5??>?>F5D< G5D57 >DOLG <>7GF E>EF46?OFL 4> 
30340% >F ?>F5DL F5??4 6E57> 4><4, 4 <E G65?<G5=<5 <>65F 
5OFL GD564F> =5 F>?L>> ?<L=<<< 74FD4F4<< ED54EF6, => < 
GEG4L5=<5< M>E??G4F4F<>==OE E4D4>F5D<EF<> 4><4 6??>FL 
4> 464D<==OE E<FG4F<=, =4?D<<5D 6E?54EF6<5 7=<5=<O 
>>=EFDG>F<= <?< >5?545=5=<O >4D=<7>6.

'EFD4=5=<5 6OL5?5D5G<E?5==OE ?D>5?5< 6 >D>6?5 6>?N-

G45F 6 E55O =5 F>?L>> GF5??5=<5, => < >><??5>E =>D<4F<6-
=OE < >>=EFDG>F<6=OE <5D.

1. �D46<?L=O= ?>45>D F>?M<=O GF5??<F5?O
%>7?4E=> FD55>64=<O< %� 50.13330.2012 E <7<. 2 >F 
16.01.2022 «&5??>64O 74M<F4 744=<=», F>?M<=4 F5??><7>-

?OF<< >?D545?O5FEO <EE>4O <7 7=4G5=<= FD55G5<>7> 
=>D<4F<6=>7> E>?D>F<6?5=<O F5??>?5D544G5, GG<FO64N-

M57> 6<4 >>=EFDG>F<< (4?O >DOL =>D<4F<6 E4<O= 6OE>-

><=) < >E>55==>EF< D57<>=4 EFD><F5?LEF64 (F5<?5D4FGDG < 
6?46=>EFL), 4 F4>65 F5??>?D>6>4=>EF< GF5??<F5?O. '5< 
5>?LL5 F>?M<=4 GF5??<F5?O < =<65 57> F5??>?D>6>-

4=>EFL, F5< MDD5>F<6=55 GF5??5=<5 >>=EFDG>F<<. 

2. �5=F747>D >D>6?<
�5?<G<=4 65=F<?<DG5<>7> 747>D4 6 >D>6?5 746<E<F >F 
4?<=O < ??>M44< E>4F>6, G7?4 =4>?>=4 >DOL< < 4DG7<E 
>>=EFDG>F<6=OE >E>55==>EF5=. �<=<<4?L=4O D5>><5=4G5-
<4O F>?M<=4 747>D4 4?O F<?>6>= E>4F=>= >DOL< 6<?>7> 
4><4 E>EF46?O5F =5 <5=55 40 <<. �47>D <564G >D>65?L=O< 
?>>DOF<5< < >>=EFDG>F<5= GF5??5==>= >DOL< >EGM5EF-
6?O5FEO ?GF5< <>=F464 45D56O==>7> 5DGE>4 ?4D4??5?L=> 
=4>?>=G E>4F4 4?O 55E?D5?OFEF65==>7> 46<65=<O 6>74GE4 
6 ?>4>D>65?L=>< ?D>EFD4=EF65.

3. 'EFD>=EF6> 65=F<?OF<< >4D=<7>6 < >>=L>4
�?O >EGM5EF6?5=<O 65=F<?OF<< ?>4>D>65?L=>7> ?D>E-
FD4=EF64 =5>5E>4<<> =5 F>?L>> =4?<G<5 65=F<?<DG5<>7> 
747>D4, => < 6>7<>6=>EF< ?D<F>>4 6>74GE4 6 =<6=5= G4EF< 

>DOL<, 745, >4> ?D46<?>, =4E>4OFEO >4D=<7=O5 E65EO. 
�F45?>4 E65E>6 4>?6=4 >EGM5EF6?OFLEO E =4?<G<5< 
>F65DEF<= (?5DD>D<D>64==O5 M?5<5=FO E4=4<=74 <?< 
D5L5F>< 6 64D<4=F5 45D56O==>= >5L<6><), 4 F>D5F >4D=<-

74 <564G >D>65?L=O< ?>>DOF<5< < EFD>?<?4<< 4>?65= 
<<5FL E6>5>4=O= 4>EFG? 6>74GE4 >DG7?>7>4<G=> (4?O 
MF>7> =5>5E>4<<> ?D46<?L=> D4E?>?474FL 6>4>EF>G=O= 
65?>5, GF>5O 7<<>= E>>?<6L<=EO E=57 =5 ?5D5>DO64? 
747>D) < 74>DO64FLEO E5F>>= >F ?>?444=<O =4E5>><OE < 
?F<F. �FF>> 6>74GE4 >EGM5EF6?O5FEO 6 65=F<?<DG5<>< 
>>=L>5 74 EG5F 747>D4 <564G E>4F4<< >D>6?<. %>7?4E=> 
%� 17.13330.2017 «�D>6?<», <<=<<4?L=4O >5M4O ??>M44L 
6E>4=OE >F65DEF<= 65=F<?OF<>==>7> >4=4?4 =4 >4D=<7=>< 
GG4EF>5 4 200 E<2/<, 4 6OE>4=OE >F65DEF<= =4 >>=L>5 4 
100 E<2/<.

4. �5=F<?OF<O G5D44>4 ?D< =4?<G<< E>?>4=>7> GG4EF>4 
>DOL<
�D< =4?<G<< GF5??5==>7> 7>D<7>=F4?L=>7> GG4EF>4 ?>4 
>DOL5= =5>5E>4<<> >55E?5G<FL 4>EF4F>G=>= 65=F<?OF<5= 
G5D44G=>5 ?D>EFD4=EF6> ?GF5< GEF4=>6>< 65=F<?OF<>=-

=OE D5L5F>> <?< E?GE>6OE >>>= =4 DD>=F>=O. -F> ?D54>F-
6D4F<F >5D47>64=<5 >>=45=E4F4 =4 E>?>4=>< G5D44>5. 
%>7?4E=> %� 17.13330.2017 «�D>6?<», EG<<4D=4O ??>M44L 
6E5E 65=F<?OF<>==OE >F65DEF<= (6>?NG4O >>=L><, >4D=<-

7O, >D>65?L=O5 6OFO6><) 4>?6=4 E>EF46?OFL =5 <5=55 
1/300 ??>M44< 7>D<7>=F4?L=>= ?D>5>F<< >D>6?<.

5. �D<<5=5=<5 E>>F65FEF6GNM57> 7<4D><7>?OF<>==>7> 
<4F5D<4?4
�?O 74M<FO GF5??5==>= >D>6?< >F =55?47>?D<OF=OE 
6>745=EF6<= E> EF>D>=O >>DG64NM5= ED54O ?D<<5=ONFEO 
7<4D><7>?OF<>==O5 <4F5D<4?O. %>6D5<5==4O 7<4D>65FD>-

74M<F4 4 MF> ?4D>?D>=<F45<O= <5<5D4==O= <4F5D<4?, 
E?>E>5EF6GNM<= 55E?D5?OFEF65==><G 6OE>4G 6?47< < 
?>76>?ONM<= G>?44O64FL GF5??<F5?L 6??>F=GN > =5<G. � 
>D>6?OE F4>65 <>7GF <E?>?L7>64FLEO ?4D>=5?D>=<F45<O5 
??5=><, => 4?O =<E =5>5E>4<< =5 F>?L>> =4DG6=O=, => < 
6=GFD5==<= 65=F<?<DG5<O= 747>D. �>4>5=O5 <4F5D<4?O 
EG<F4NFEO GEF4D56L<<< < ?D<<5=ONFEO, >4> ?D46<?>, =4 
E>?>4=OE >D>6?OE.

6. �4D><7>?OF<O GF5??5==>= >D>6?<
�?O 74M<FO GF5??<F5?O >F ??5E5=< < 7D<5>4 6E?54EF6<5 
?5D5G6?46=5=<O <7=GFD< >5O74F5?L=> <>=F<DG5FEO 
=5?D>=<F45<4O ?4D><7>?OF<O, 75D<5F<G=> E>?55==4O 
<564G E>5>= < E<56=O<< >>=EFDG>F<O<<. �D46<?L=> 
E<>=F<D>64==4O ?4D><7>?OF<O 4 74?>7 EGE>7> GF5??<F5?O, 
4>?7>65G=OE >>=EFDG>F<= < 74>D>6>7> <<>D>>?<<4F4 
?><5M5=<=.

'F5??5=<5 E>4F=>= >DOL< 6<?>7> 4><4



%<EF5<4 GF5??5=<O E>4F=OE >D>65?L «&5??4O �4=-
E4D44» 4 >><??5>E=>5 D5L5=<5 4?O GF5??5==OE E>4F=OE 
>D>65?L < <4=E4D4, D5L4NM55 E?54GNM<5 >?NG56O5 
7444G<:

F5??>64O 4 E>5?N45=<5 =>D<4F<6=>7> F5D<<G5E>>7> 
E>?D>F<6?5=<O >7D4644NM5= >>=EFDG>F<< E>7?4E=> %� 
50.13330-2012 E <7<. 2020 «&5??>64O 74M<F4 744=<=»;

74M<F4 >F 6=5L=57> ?5D5G6?46=5=<O. � >4G5EF65 
74M<FO >F =55?47>?D<OF=OE 6=5L=<E 6>745=EF6<= 
?D<<5=O5FEO EG?5D4<DDG7<>==4O 7<4D>65FD>74M<F=4O 
<5<5D4=4 �7>65D �5FD4=5F ��;

74M<F4 >F 6=GFD5==57> ?5D5G6?46=5=<O. � >4G5EF65 
74M<FO >>=EFDG>F<< >F ?>?444=<O 6?47< < ?4D4 <7 ?><5-
M5=<= 6E?54EF6<5 ?4DF<4?L=>7> 446?5=<O ?D<<5=O5FEO 
?4D><7>?OF<O �7>65D �<4D4=5F D / �7>65D �4D4=5F B,
4 F4>65 E?5F<4?<7<D>64==O5 >?5=><5 ?5=FO �7>65D 
�4D4=5F / �4D4=5F �'�;

$<EG=>> 1. 
'F5??5=<5 ?> E>4F4< < ?>F>?>G, ?> EFD>?<?4< 
< 54?>4<-74FO6>4< E>>F65FEF65==>. 
�5=F<?OF<O >EGM5EF6?O5FEO G5D57 >4D=<7O, 
>>=5> < «E>?>4=O= FD5G7>?L=<>» 4 G5D44>.

�?<E4=<5 < DG=>F<< E<EF5<O

�4D<4=FO GF5??5=<O < >F45?>< <4=E4D4O

LG<><7>?OF<>==4O. �4>E<<4?L=> MDD5>F<6=>= 74M<-

F>= >F LG<4 O6?O5FEO >><??5>E=4O D45>F4 55 D47=>D>4-

=OE M?5<5=F>6 4 6=GFD5==5= >5?<F>6>< <7 7<?E>6OE 
EFD><F5?L=OE ??<F < F5??>- < LG<><7>?OF<< �����$ =4 
>E=>65 >64DF4, 74?>?=ONM5= >7D4644NM<5 >>=EFDG>-
F<<;

>4G5EF65==4O < 4>?7>65G=4O ?>65DE=>EFL >F45?><. 
� >4G5EF65 ?>4E<EF5<O 4?O GF5??5=<O < >D5??5=<O 
6=GFD5==5= >F45?>< <E?>?L7G5FEO <5F4??<G5E><= >4D>4E 
<7 ?D>D<?O < E?5F<4?L=OE >D>65?L=OE ?>465E>6, GF> 
>55E?5G<645F 6OE>>GN =5EGMGN E?>E>5=>EFL, D>6=GN < 
EF45<?L=GN ??>E>>EFL ?>4 ?N5>= 6<4 >F45?><;

4>GF5??5=<5 EGM5EF6GNM<E >D>65?L ?D< =54>EF4-
F>G=>= <?< >FEGFEF6GNM5= F5??><7>?OF<<.

�%&, ���$�%/?
%�/��%, 
% -�%��$&��

��� «%5=-�>55= %FD><F5?L=4O ?D>4G>F<O $GE»
7. �>E>64, �D5>5D465=E>4O ??., 4. 8
&5?.: +7 (495) 228 81 10
�>DOG4O ?<=<O: 8 800 234 01 31 (76>=>> ?> $>EE<< 55E??4F=O=)
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$<EG=>> 3.
'>DG?=5==O= G75? �, >?<EO64NM<= <>=F46 
>5?<F>6>< =4 EFO>4E E>4F>6.

$<EG=>> 4.
'>DG?=5==O= G75? �, >?<EO64NM<= <>=F46 
>5?<F>6>< =4 EFO>4E E <4=E4D4>=.
�>4E>4<F 4?O <>=F464 GF5??5=<=, >?<E4==OE 
=4 D<EG=>4E 1 < 2.

'75? �

$<EG=>> 2.
'F5??5=<5 «?>4 >>=5>» ?> E>4F4< >D>6?< 557 
7>D<7>=F4?L=>7> ?>F>?>G=>7> GF5??5=<O.
�5=F<?OF<O ?>4>D>65?L=>7> ?D>EFD4=EF64 
>EGM5EF6?O5FEO F>?L>> G5D57 >4D=<7O < 
>>=5>.

'75? �

��� «%5=-�>55= %FD><F5?L=4O ?D>4G>F<O $GE»
7. �>E>64, �D5>5D465=E>4O ??., 4. 8
&5?.: +7 (495) 228 81 10
�>DOG4O ?<=<O: 8 800 234 01 31 (76>=>> ?> $>EE<< 55E??4F=O=)

�%&, ���$�%/?
%�/��%, 
% -�%��$&��

&�%��'�%��/ ��$&�
%<EF5<4 GF5??5=<O 
E>4F=OE >D>65?L 
&����/ ���%�$��



$4EEF>O=<5 >F 65DE4 ?>465E4 4> =4DG6=>7> 6>74GE4

�O6>4 1:  4?O 6O?445=<O >>=45=E4F4 ?D< D47=<F5 
F5<?5D4FGD ?>65DE=>EF< < 6>74GE4 6 ?><5M5=<< 
=5>5E>4<<4 6?46=>EFL =5 <5=55 95 % (6>7<>6=4 
F>?L>> 6 E4G=4E F<?4 «E4<4<»).

�O6>4 2:  G45?L=O5 ?>F5D< F5??4 ?D< <E?>?L7>64=<< ?>465E4 E>EF46?ONF 0,004 �F/°%, GF> O6?O5FEO =57=4G<F5?L=>= 
?>7D5L=>EFLN < E>?>EF46<<> E <E?>?L7>64=<5< ?D>D5EE<>=4?L=>7> GF5??5==>7> F4D5?LG4F>7> 4N55?O-4=>5D4 F<?4 
«&5D<>>?<?».

$57G?LF4F: <>45?<D>64=<5 GF5??5==>= E ?><>MLN >D>65?L=>7> ?>465E4 ISOVER E>4F=>= >D>6?< ?>>47O645F >FEGFEF6<5 
6>7<>6=>7> 6O?445=<O >>=45=E4F4 ?D< ?N5>= 6?46=>EF< 6 6<?>< ?><5M5=<<.
%D54=OO F5<?5D4FGD4 =4 6=GFD5==5= ?>65DE=>EF< �%� >F?<G45FEO >F F5<?5D4FGDO 6>74GE4 6 ?><5M5=<< <5=55 G5< =4 
1 °%, 4 F5??>?>F5D< E>?>EF46<<O E ?D<<5=5=<5< GF5??5==>7> F4D5?LG4F>7> 4=>5D4.

&5<?5D4FGD=>5 ?>?5 ?>65DE=>EF< �%�&5<?5D4FGD=>5 ?>?5 >>=EFDG>F<< (E5G5=<5 ?> ?>465EG)

330 °%

+20 °%

�>465E

ISOVER

�%�

Gyproc
�4D><7>?OF<O

ISOVER

&5??><7>?OF<O

ISOVER

�4D4<5FDO, 6?<ONM<5 =4 ?>F5D< F5??>FO 
G5D57 G75?: D4EEF>O=<5 >F >D4O EF4?L=>7> 
D4E?>D=>7> M?5<5=F4 4> F4D5?>< 4N55?O, 
L1, <<.

�44=<O < ?><5M5=<O

�<?O5, ?5G55=>-?D>D<?4>F<G5E><5 < 
45FE><5 GGD5645=<O, L>>?O, <=F5D=4FO

�5M5EF65==O5, >D><5 G>474==OE 6 
EFD>>5 1, 44<<=<EFD4F<6=O5 < 5OF>6O5, 
74 <E>?NG5=<5< ?><5M5=<= E 6?46=O< 
<?< <>>DO< D56<<4<<

=4DG6=OE 
EF5=

?>>DOF<= < 
G5D44G=OE 

?5D5>DOF<=

?5D5>DOF<= =44 
?D>5744<<, 

?>464?4<< < 
?>4?>?LO<<

75=<F=OE 
D>=4D5=

4,0

4,5

3,0

4,0

2,0

2,5

t
B
3t

P

t
B
3t

P

�>D<<DG5<O= F5<?5D4FGD=O= ?5D5?44 &t
�

, °%, 4?O

'45?L=O5 ?>F5D< F5??>FO:

" 0,052 �F/°% 4 >>=EFDG>F<O E ?>465E><
" 0,048 �F/°% 4 >>=EFDG>F<O 557 ?>465E4

'45?L=O5 ?>F5D< F5??>FO:
Ç = 0,052 3 0,048 = 0,004 �F/°%

%� 230.1325800.2015
'45?L=O5 ?>F5D< F5??>FO F4D5?LG4F>7> 4=>5D4

L
1
 f 2 <<

2 < L
1
 f 6 <<

6 < L
1
 f 11 <<

11 < L
1
 f 16 <<

0,006

0,005

0,004

0,003

Ç, �F/°%

" +20 °C 4 F5<?5D4FGD4 6=GFD< ?><5M5=<O
" +19,17 °C 4 ED54=OO F5<?5D4FGD4 =4 
6=GFD5==5= ?>65DE=>EF< >5L<6><
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